TRIOFE HFRORRAR %28 (U-18) YyN—K&
[ =& ]
ARE TU—2T 40-15-40
~JTLwS RE LE B | 8 31D Mn Bxknl = |IEh
~JTLwS 2 — 1]14 — O|2 0| 0|6 |16/ 1 | 15| 1
RE 1 - 2 4 — 3|1]/1]0]3|5|5|] 0]2
hE O — 14|11 — 2 0/ 2] 0]0/|1]16|-15] 3
BRA= 1U—27 35-10-35
~JUTLwA R NS B 8 3In|Baga ks = [IEf
~JTLwS 2 — 1|6 — 0|2|]0|0|6]|8]|1 4 1
RE 1 - 2 2 — 111111033/ 3] 0|2
NS O — 611 = 2 0/ 2] 0]0|1]8]|-71]13
AXE Y= 40-15-40
REFEE EANE] iR B | 8 31D BR Baltn] = |IBE
REFEE 2 — 1]0 — 5|11 1|]0|3|2|6]| 4|2
EIE] 1 - 2 2 — 3]0 2|]0|0| 3| 5] 2|3
=R 5 — 0|3 =— 2 2/0]0]|6/8|2]| 6 1
BAE TUU—42 35-10-35
REFEE EAE] iR B | 8 31D BR Baltn] = |IBE
REFEE O — 0]0 — 1]O0|1|1[1]O0|1]-1]|2
EIE] O — O O — 4101 ]1]1,/0[|4]| -4]3
=i i — 014 — O 210016 |5]0] 5 1
001858 () =) =7 LKE—HB> 01813 (B) FH&EU—=T LKFEFTHB>»
~ | B8 it | s ~ | BB —— .
A= &7 XyE% A8 | B RE @7 X8 AE0| B
930| FUTLYH | 14 ; ~ 8 O | BRE o930 B | 2 g _ % 3| S
Al s BL[E5 60 B AL e 6 Bu[ =S| 8 R R
Bi% = PIEI Bi% %8| Bz
ol buzuns| 6 | LT 00| BB wol #BE |0 |0 D 5 |4 mw
BI = EE B8R | #8ER BI e i B BE|BE
12:50 ==1=9 1250 == = =u
BiZ E=3 RIS RiB & | BB
1400  HB 1 O - 0 O KEmEE 1400| REE 4 2 - 0 3 N
: 1 - 2 RPN = : RE 2 B 3 INE
Al e = BE|BAX Al s o B BE | BRI
1535 ==1=8 1585 == = =
RiZ R PIEI Ri% % | BB
oo #H@ |0 |9 [ o O |Km¥E ool wE |2 |1 0 1] neE
BI e T BE| 18R BI s B BAE 8E |88R
1720 = === 1720 | =2 = =8
RiZ =8| Ei% Ri% % | BB
XEBRHBE=FJTL VY XEBRN=REZFE KEZRBE—=FB KEBRIN=ILE
KEHEG—RE. = XEHS=FUTLvS, RKEER




018208 (B) ZA-TV¥ <E=8>» 018278 (B FEJI-D KFUEE>»
*ABL (40-10-40) B (35-10-35)

~| BB ot 2o | s R e | s
A= &7 PUE= B | B A& @7 PUE:] BB | B
oo FE (0|3 [ 9|3 | ¥® o0 zm¥® O |9 | 5 |5 | &
B —wm HETEE BE|EE| (AL s SEBE 18E | B
BB %8| Ei% Ri% ER
os wE (1|0 1 9|0 ¥B ol grmer® O |0 D 1|1 | =
A s HETEE B 8E  |BI—ma SEBE 188 185
1155 12:50 £
BB 3 PIEI Ri% ER
: ! W 3 - 2 25 Bl 2 ) } | N 2 - O E—
1200 fUTLWH| 5 > -0 2 | RREE 1400 | kUTLYH| 2 0 ~ y 1 RE
A —Ea (B BE|BH Al N % EE BE | I
13:30 EI% . EI;,EZ 1535 EI% b EI%
1335| RUTLYR| 8 é : (1) R 1600| RUTLwS| 2 C2) : ? 1 RE
B —rux HETEE B 8E Bl s SuBE 188 185
1455 JEI;}Z . EI;,EZ 1720 EI% % iEI;}Ez
A O - b5 e XRIFRE—SR KEBRUN=RE
1500, KR | O 6 S A —
A _— ) EI_" gli 65 |85 XERS=LE. B
1630 | =2 18| E5
BB L& BB
. 3 - O =i+
1635 [LE 3 0 -0 O S
B wx FEEE 195 | 85
1755
BB 5 BRI
KRIFRE—RE. B XRABRIN=L0E. S

02838 (B IECREEL LERBB>»
AXE (40-10-40) *BA= (35-10-35

= = s *2| B A | Bl SHsK
Sloo mm (10 T T4 [merm N | 2f1 | RUTLYR
ey = i = BE | 15K
2. * 04 Y R ACKDREFER P Y ==
% T EmEE ~ | 3 KEFE
3o mE O g D L1 e & | 41 RESK
n 19| R%5 A
2] e 26 18 5|27 -+ " =
5 | es e 1M 5 #FBEER
A l Y 5 | 61 mEER
B Eelrs |4 [PK[5 |Ealso s
: B8 5 Bi = R | W
:?& 1835 FUTLwE| 2 :: : (1) 1 =iR B 1§H_%§ _.l\_ izl/ J9
g P B[ ES R /A K| 261 BWRER
B | BB 5 BiB = 3 B RS E
. 7 FE

s w0l B |22 T 24 ym - — 1__ =
2 Ee Bu[Es 5 68| B I8 | 401 =ESK
% 16:30 1@1’% 1=} IEI’JEZ 1Tl7 51T‘7 m%_l%_ﬁ
5 |35 [LAEE 1 é : 8 0 HE — : —
gé =T e BE| && % 61M %ﬁ@l%ﬁ
E 1755 — - =
% B = Rig

HKEBRE=RE « REFE XSBRIN=LE « i



